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** 1. What do we know about the shirt?
A. He hasn’t had time to try it on.
B. It doesn’t fit him very well.
C. He is not sure whether he likes it or not.

** 2. What time is it now?

A. 6:00. B. 4:30. C. 5:30.
*** 3 What do we learn from the conversation?
A. The man doesn’t agree to invite more people.
B. The woman shares the man’s opinion.
C. The woman does not agree with the man.
*** 4. What will the weather be like?
A. The weather may get even colder.
B. It will be the coldest winter they’ve ever had.
C. The weather will soon get warmer.
*** 5. How did the woman feel about the motorcycle the man bought?
A. The motorcycle is expensive.
B. Motorcycles in this shop are very cheap.

C. Motorcycles’ prices in this shop are reasonable.
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* 6. Where are the speakers?
A. At the airport. B. In a hotel. C. In the street.
**% 7. Why doesn’t the woman take the last plane in the evening?
A. Because the ticket has been sold out.
B. Because she thinks it’s too late.

C. Because she wants to take the plane next moming.
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*%* 8 What is the man famous for?

A. Doing business. B. Collecting coins. C. Teaching maths.

**X 9. How does the man get the coins for his collection?
A. He trades for rare and old ones.
B. His uncle often gives him some.

C. He asks for some from his friends.
*XX 10. Who is the woman?

A. A teacher. B. A saleslady. C. A journalist.

TSR 8 BRM L BIZESS 11 B8 13 7,

** 11. What is the man looking for?

A. The bookstore. B. A town guide. C. A shoe repair shop.

**** 12, What can best be said about the instructions given here?
A. They had to be repeated.
B. They were easy for the man to remember.
C. The woman made a mistake.
*** 13. What can best be said about the way the woman speaks to the man?
A. She seems to be in a hurry to leave.
B. She seems to be curigus about him.
C. She seems to be happy to help him.
WIS 9 Bobipl, IS 14 25 17
*** 14. Why does the woman make the telephone call?
A. She wants to know more about the club.
B. She hopes to find a job in Washington.
C. She plans to go to evening classes.
***X 15. What do the members do on Thursday evening?
A. They have sports.
B. They have language classes.
C. They have dinner together.
*** 16. What language does the woman speak besides English?
A. Spanish. B. French. C. Italian.
*k%* 17. Why does the man ask the woman for her name and address?
A. He wants to send her a form.
B. He intends to visit her.
C. He would like to know more about her.
WTSE 10 BbPRl, 545 18 5 20 &,

**** 18. What were the high temperatures for F riday in. the state?

A.85to 90 degrees. B. 91 to 95 degrees. C. Over 99 degrees.

*A* 19. What is the weather forecast for Saturday evening?
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A. It will be clear. B. It will be cloudy. C. It will be mainy.
**&* 20. About what time should skies clear on Sunday?
A. Around 10:00 a.m. B. Around 3:00 p.m. C. Around 6:00 p.m.
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** 1. A. ATV set. B. A washing machine.
C. A public telephone. D. A dishwasher.
**% 2. A. Ten minutes. B. Fifty minutes.
C. Forty minutes. D. Twenty minutes.
**% 3 A. It's lunch time.
B. Diana has had her lunch.
C. The man has dialed the wrong number.
D. The man has had his lunch.
**k 4. A. The light isn’t bright enough. B. The dining room is too large.
C. He agrees with the woman. D. The light is bright enough.
**%x 5. A. Go straight. B. Tum left, and then go straight to the stairs.
C. Tum right after the stairs. D. It is right over there.
*** 6. A. He lost his keys. B. He called the woman.
C. He quarreled with the manager. D. He talked to the woman.
*x% 7. A. In a hotel. B. At an airport.
C. In the street. D. In a restaurant.
*Ak Q. A. In summer. B. In winter.
C. In autumn. D. In spring.
**k 9 A. Difficult. B. Easy.
C. Proper. D. Fine.
**% 10. A. Three yuan . B. Seven yuan.
C. Thirteen yuan. D. Seventeen yuan .

- Jalg <)
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*** 11. A. He is the man’s best friend.
B. He is the man’s workmate .
C. He is the couple’s neighbor.
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D. He is the man’s schoolmate.
*kk 12, A. Fish. B. Salad. C. Wine. D. Meat.
WA 12 BobbR, AR 13 28 148
*%% 13 A. He wants to book some seats for the show.
B. He wants to get some information about the show.
C. He wants to know on what day the show will be given.
D. He wants to play a role in the show.
A

*Akk 14 A. At 10:00 p.m. B. At 8:00 p.m.
C. At about midnight. D. At noon.
WTEs 13 Bobhkl, EESE 15 25 17 &L,
**% 15. A. Marshall. B. Matthew. C. Michael. D. Mick.

*** 16. A. A yellow baseball cap.
B. A pair of black and white pants.
A blue and white sweat shirt.
A red scarf.
**% 17 A. He is at the information desk waiting for his mom.

He is waiting in the sporting goods section.

o wp DO

He is at the cashier where you pay for goods.
D. He is at the gate waiting for his mom.
WP 14 BebbRt, ISR 18 5 20 &,
%%k 18 A. An official.  B. A tourist. C. A guide. D. A teacher.
*** 19 A. On Sunday aftemoon.
B. On Tuesday moming.
C. On Saturday afternoon.
D. On Friday moming.
*hkk 0. A. Two. B. Three. C. Four. D. Si.
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* 1. How much does the ticket cost?
A. $367. B. $376. C. $637.

** 2 How much will the woman lend the man?
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A. $13.00. B. $7.00. C. $6.00.
Who is Mr White?
A. A salesman. B. A professor. - C. A repaiman.

. What does the woman suggest the man do?

(e}

A. Wait in the comer. B. Take a taxi. . Telephone the hotel.

. How many countries has the woman been to so far?

A. Four. B. Three. C. Two.

. Why does the woman read a magazine?

A. She likes it.
B. She has nothing else to do.
C. She wants to study English.

. What is the man going to do today?

A. Play golf. B. Call his boss. C. Go to work.
How many students did the woman believe had taken the exam?
A. Fifty students, B. Forty students. C. Twenty-five students.
What dose the man mean?
A. He’s interested in reading.
B. He has already read the book.
C. He’d like to read the book very much.
How long have the speakers been waiting?
A. 30 minutes. B. 1 hour. C. 1.5 hours.

. Why didn’t they carry the old man to safety?

A. Because he can go there himsel.
B. Because the road is too crowded.
C. Because he is badly hurt.

. How much should the woman pay if she buys two T-shirts?

A. Ten dollars. B. Eleven dollars. C. Six dollars.

. What’s the weather like when they are speaking?

A Rainy. B. Cloudy. C. Sunny.

. What does the man mean?

A. He wants to have more parties.
B. He wants to have better parties.
C. He wants to have a party as large as possible.

. What does the woman mean?

" A. She can help the man.

*hkk 16

B. The machine was just repaired.

C. The clerk doesn’t like to be troubled.

. What does the woman imply?

A. The old houses should be tumed into stores.



To make the woman wife.
To please the man’s wife.

To please Harry.

6. FRAELERME BPHE *okkokok
B. This shopping center is quite old.
C. New shopping centers are very common.
*A%% 17. Which man is the thief?
A. A middle-aged man, with short brown hair.
B. A middle-aged man, with long black hair.
C. A middle-aged man, with long brown hair.
**** 18. Does Jane know Arvid Brown?
A. She doesn’t know him at all.
B. She knows little about him.
C. She knows him very well.
**** 19. Why is the man calling?
A. He needs more information about the apartment.
B. He wants the woman to give him some good advice.
C. He wants to buy an apartment with three rooms.
**** 20. What does the woman mean?
A. Jack’s performance is disappointing.
B. She doesn’t agree with Jack.
C. Most people think basketball boring.
**** 21. A. He likes biology enough to continue with iit.
B. His grades in science courses are very good.
C. He hasn’t taken enough courses in biology.
D. He doesn’t want to take any more science courses.
**%*k 22. A.Rice should be served with the chicken.
B. The dishes here are never spicy.
C. There really is chicken in the salad.
D. Both the chicken dish and the salad taste spicy.
**A* 23. A. He wants to get a new position.
B. He is asking the woman for help.
C. He has left the woman a good impression.
D. He enjoys letter writing.
**k* 24 A. She thinks the man’s joking.
B. The man needs to have his eyes examined.
C. The man should get some sleep.
D. The man is wise to study.
**4** 25. A. Because he is the man’s friend.
B.
C.
D.
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**A* (1) Where is Mr Lee’s office?
A Right at the comer. B. On the first floor.

C

**(2) How do you think the man had better go to Mr Lee’s office?

A. By taking the lift.

B. On foot.

C. By following another man along the corridor.
**%(3) Who is Mr Lee’s neighbour?

A. Miss Ho. B. Mr Hong.
2 [1]
***(1) Who is Teddy Jones?
A. A doctor. B. An actor.

***(2) What happened to the main character?

A. He suffered from cancer.
B. He got married to a girl.
C. He wanted to be a doctor.

**k*(3) What can we leam from the dialogue?
A. TV audiences know many famous doctors.
B. Barbara played a role on the TV show.
C. Teddy liked the role he played very much.

3[1]
**A% (1) Why doesn’t the man book the seats downstairs?
A. Too expensive. B. Too close to the stage.
***(2) When does the man plan to see the performance?
A. Next Saturday. B. On October 21%.
**%*(3) How much does each upstairs ticket cost?
A. $10. B. $3.75.
4{1]
**(1) Whom do you suppose they are talking about?
A. Their student. B. Their son.
**(2) How old is Bob?
A. 15 B.7

c

C.

***(3) What is the woman’s attitude to Bob’s traveling on his own?

* TS WETRECT R 5 BB 9 KBt ], B4 4, TR

. On the fourth floor.

. Mrs Hu.

. A reporter.

. Uncomfortable .

. On October 25",

. $2.50.

. Their clerk.

17
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A. She’s worried about it.
B. She’s against it.
C. She’s eager to stop it.

5([1.5]
**% (1) What is the purpose of the woman’s visit?
A. Business. B. Pleasure. C. Business and pleasure.
** A%k (2) Where will the woman stay during her trip?
A. At a friend’s home. B. At a hotel. C. At a university dormitory.
***%(3) About how long will the woman be in the country?
A. One or two days. B. Three or four days. C. More than four days.

**%*%(4) What things are in the woman’s luggage?
A. Clothing, computer and books.
B. CD player, clothing and books.
C. Books, gifts and computer.
****(5) What other piece of information do we learn about the woman?
A. Her parents are on the same trip.
B. She enjoys traveling to different countries.
C. She was born in that country.

6 (1]
**** (1) Where is the man living?
A. 17 Mallett Street. B. 70 Mallett Street. C. 17 Marett Street.
**%(2) Which house is on fire?
A. Number 16. B. Number 18. C. Number 20.

***%(3) Why is there nobody in the house on fire?
A. They went shopping.
B. They went to work.
C. They went abroad on holiday.

7 (1]
**(1) How much does the man pay for the trip?
A. $90. B. $70. C. $100.
***(2) How long is the trip to Los Angeles?

A. Eight hours.
B. Eight and a half hours.
C. Nine hours.

8 1]

**% (1) Where does the man want to go?
A. To the science museum.
B. To the art museum.

C. To the natural history museum.
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***(2) How much is the train ride?

A. A dollar fifteen. B. A dollar forty. C. A dollar fifty.
*%*%(3) Where should the man get on the train?
A. Platform number 3. B. Platform number 4. C. Platform number 5.

***(4) How often do the trains come?

A. About every five minutes.

B. About every six minutes.

C. About every seven minutes.
***(5) Where should the man get off the train?

A. At the State Street Station.

B. At the Star Palace Station.

C. At the Seventh Street Station.

9 (1)
*%*(1) What is the conversation about?
A. About a book. B. About a film. C. About a story.
****(2) What did the girl think of the film?
A. Tt was terrible. B. It was good. C. Tt was wonderful.

***(3) According to the girl, what did the film director do with the film?
A. He followed the story.
B. He improved the story.
C. He changed the story.

10 [2]
%*%% (1) The man makes a reservation finally for which day?
A. March 20™. B. March 21°. C. March 22™.
*%* (2} What kind of room does the man prefer? v
A. A non-smoking room.  B. A smoking room. C. Either one is okay.

*AX*(3) Why doesn’t he want to reserve the suite?
A. Tt doesn’t have a nice view.
B. It doesn’t come with a sauna bath.
C. It’s too expensive.
****(4) Including tax, how much is the man’s room?
A. 80 dollars. B. 88 dollars. C. 96 dollars.
***(5) How do you spell the man’s name?

A. Maxner. B. Maexner. C. Mexner.
11 [1}
*%k (1) What’s the relationship between the two speakers?
A. Schoolmates. B. Workmates. C. Strangers.

****(2) Why is Jeanie here earlier?

A. To meet her friend. B. To have a class. C. To go over her homework .
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**%(3) What’s Jack’s attitude toward the test?
A. He is calm. B. He worries about it. C. He has to get an A.

12 [1.5]
*%*%(1) What had gone wrong in their house before the man was asked to tumn off the light?
A. Their washing machine.
B. The electricity.
C. The lights.
**A*(2) Which of the following is true?
A. Mr Smith did nothing for them at all.
B. Mr Smith asked little money from them for his work.
C. Mr Smith did help them but couldn’t solve the problem completely that day.
**%(3) Why did the man think it would cost him too much?
A. Because he wanted to buy a car.
B. Because he didn’t have a good job.
C. Because their car needed repairing.
13 [2]
***KX(1) What are the two speakers doing on the streets?
A. Getting on a road test. B. Robbing a bank. C. Repairing a car.
A*k%k(2) In what part of town do they begin the road test?
A. In a commercial area.
B. In a residential district.
C. In a school zone.
****k(3) What was the situation with the vehicle in front of them?
A. Mr Smith is following too closely.
B. The driver of the other car is tailgating them.
C. The car ahead of them is driving below the speed limit.
****(4) What did Mr Smith almost hit in the road?
A. Another vehicle. B. A person. C. A street sign.
*k*k%(5) What does the driving officer suggest Mr Smith do at the end of the conversation?
A. He should come back on Friday to take the test.
B. He had better take more driving lessons before trying the test again.
C. He ought to take the test with another driving officer.
14 (1)
***X(1) A. To urge John to talk more with his father.
B. To help John forget his trouble.
C. To help John get rid of his loneliness.
D. To share her feelings with John. (2002 4F F g T B % 508)
*****(2) A. Parents nowadays are too busy.

B. The generation gap always exists.



